Answers to Questions on Pages 100-101

5. A) Protons and neutrons are found in the nucleus while the electrons orbit the nucleus in their respective energy levels.

   B) The protons and neutrons make up the majority of the mass of an atom.

   C) CORRECTION – The electrons make up most of the space as their orbits take up more space then the nucleus!! Please make this correction in your answers!!
7. Protons – same as the atomic number

    Neutrons – subtract the atomic number from the mass number

    Electrons – same as the atomic number

8. A) An isotope is any element that may have atoms containing a different number of neutrons causing it to have a different mass number.

   B) Hydrogen has three isotopes.

   C) Protium – 1 P 0N

        Deuterium – 1 P 1 N

        Tritium – 1 P 2 N

12. A – 6

     B – 7

     C – 6

     D – 1

     E – 3

     F – 2

     G – 4

13. A) Beryllium will lose 2 electrons to form an ion.

     B) Nitrogen will gain 3 electrons to form an ion.

     C) Sulfur will gain 2 electrons to form an ion.

14. Be +2          N -3         S  -2

15. A)  19 P   21 N

     B) 13 P    15 N

     C)  6 P   8N

